Name: _______ ___________ Hour: ____
Calculating pOH and [OH-]
Part A – Determine the pOH of the following solutions:

1. [OH-] = 7.2 x 10-12 M
 
_______________
2. [OH-] = 0.0000052 M

_______________
3. [H+] = 7.2 x 10-12 M

________________ (careful!)
Part B – Determine whether the following solutions are acidic, basic, or neutral.
4. [OH-] = 6.3 x 10-8 M 

___________________
5. [OH-] = 0.000041 M 

____ ______________
6. [OH-] = 1.0 x 10-7 M 

_____ _____________
7. [OH-] = 0.6 x 10-3 M 

_____ ______________
8. [H+] = 2.4 x 10-5 M 

_____ ______________
Part C – Calculate [OH-] for each of the following solutions:

9. pOH = 1.5



____________________

10. pH = 6.2



____________________

Part D – Calculate [H+] for each of the following solutions:

11. pOH = 3.6



____________________

12. pH = 10.7



____________________

Part E – More challenging problems:

13. What is the pOH of a solution that contains 6.5 moles of hydrobromic acid (HBr) dissolved in 2500 liters of solution?
14. What is the pOH of a solution that contains 12 grams of nitric acid (HNO3) dissolved in 1.5 liters of solution?

